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Arbeitsblatt

Kostenlos auf dw-aufgaben.de

Aufgaben-Quickname: 1000

Aufgabe 1

06.12.2020

Lose das Gleichungssystem. Benutze das Gauflsche Eliminationsverfahren.
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Variablenwerte herleiten:
(4) = x4 = —7
B)=(—4)axs+T7=(-1)=> (—4)r3=-8=13=2
(2) = (—10)3:2 + (—6) +42 =76 = (—10):1:2 =40 = 29 = —4
(1) = (—1)331 + 324+ 10+ 56 =103 = (—1)301 =5=x1=-5
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Losung: x1 = —b, 19 = —4, 03 = 2,04 = —7
8x1 + —8xro + —4dxs + Txy = -—114
b) 56x1 + —HB8x9 + —24x3 + 40xy = —742
—24r1 + 2029 + 2923 + —43x4 = 431
81 + —6x9 + 103 + 1lxy = —246
81 + —8ro + —4x3 + Txy = —114 (1)
56x1 + —B8xy + —24x3 + 40y = -—T42 (2) |+ (=7)x (1)
—24x1 + 2022 + 2923 + —43z4 = 431 (3)
8r1 + —6brg + 103 + 1lzy = -246 (4)
8r1 + —8ro + —4drs + Txy = —114 (1)
—2x9 4+ 4wz + —9x4 = 56 (2
—24x1 + 20x2 + 29v3 + —43x4 = 431 (3) |+3x(1)
8r1 + —6x2 + 1023 + 1lzy = -—246 (4)
8r1 + —8xo + —4xrz + Txy = —114 (1)
—2r9 4+ 4drs3 + —9ry = 56 (2)
—4dxy + 1723 + —22z24 = 89 (3)
8r; + —6xe + 10z3 + 1llxzy = —-246 (4) |+ (—1)x (1)
8r1 + —8xo + —4xy + Txy = —114 (1)
—2x9 + 4wz + 914 = 56 (2
—4xe + 1723 + —22x4 = 89 (3) |+ (=2)x(2)
200+ lda3 +  4dzy = 132 (4)
8r1 + —8xo + —dxz + Ty = -—114 (1)
—2x9 + 4wy + 914 = 56 (2)
93 + —4dzy = =23 (3)
2ey  + ldzy + dxy = =132 (4) |+ (2)
8r1 + —8xo + —dxz + Ty = -—114 (1)
—2x9 + 4wz + -9y = 56 (2)
93 + —4dxy = =23 (3)
183 + —bxy = =76 (4) |+ (-2)x(3)
8r1 + —8xo + —dxz + Ty = —-114 (1)
—2x9 + 4wz + 9wy = 56 (2)
93 + —4dzy = =23 (3)
3rgy = =30 (4)

Variablenwerte herleiten:
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(4) = x4 = —10
(3) = 923+ 40 = (—23) = 9rg = —63 = 23 = -7
(2) = (—2)x2+ (—28) +90 =56 = (—2)zo = —6 = 29 =3
(1) = 8x1 + (—24) + 284+ (=70) = (—114) = 8z1 = —48 = z1 =
Losung: x1 = —6,29 = 3,23 = —7,x4 = —10
Aufgabe 2

Lose das Gleichungssystem. Benutze das Gauflsche Eliminationsverfahren.

6a + —-6b 4+ —9¢ = 6
a) —42a + 45 + 67c = —67
54a + —24b + —32¢ = -—-232
6a + —-6b + —9c = 6 (1)
—42a + 45b + 67¢ = —67 (2) |+ 7x(1)
54a  + —24b + —32¢ = -232 (3)
6a + —-6b + —9c = 6 (1)
3b + 4 = =25 (2
bda + —24b + —32¢ = =232 (3) |+ (-9)x(1)
6a + —6b + —9c = 6 (1)
3b + 4 = =25 (2
30b + 49¢ = =286 (3) |+ (—10)x(2)
6a + —6b + —9c = 6 (1)
3b + 4 = =25 (2
9¢ = =36 (3)
Variablenwerte herleiten:
(3) =23 =—4

(2) = 3m9 + (—16) = (—25) = 3wy = —9 = 29 = —3
(1) = 6z1 + 18+ 36 = 6 = 61 = —48 = z; = —8

Losung: a = —8,b = —3,c = —4

3a + -8 + =3¢ = 32
b) —27a + 81b + 29¢ = 347
18 + 6c = —-114
3a + -8 + -3¢ = 32 (1)
—27a + 81b + 29¢ = =347 (2) |+9x(1)
18 + 6c = —114 (3)
3a. + =8 + -3¢ = 32 (1)
9% + 2¢ = =59 (2
18 + 6¢c = —114 (3) |+ (-2)x(2)
3a. + -8 + -3¢ = 32 (1)
9% + 2¢ = =59 (2
2c = 4 (3
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Variablenwerte herleiten:

(3) = x3 =2
(2) = 922+ 4 =(-59) = 9z = —63 = 19 = —7
(1) = 3x1 +56+ (—6) =32 =321 =—-18 = 21 = —6

Losung: a = —6,b= —7,c =2

Aufgabe 3
Lose das Gleichungssystem. Benutze das Gauflsche Eliminationsverfahren.
) by + Tz = -—-19
Y10y + 172 = 29
by + Tz = =19 (1)
—10y + =17z = 29 (2) |+2x(1)
oy + 7z = =19 (1)
-3z = =9 (2
Variablenwerte herleiten:
(2) =29 =3

(1) = dx1 +21 = (—19) = br1 = —40 = 1 = —8
Losung: y = —8,2 =3

b 3y 4+ 5z =28
) 12y 4+ —20: — —184
3y + bz = 28 (1)
—12y + —-29z = —184 (2) |+4x(1)
3y + 5z = 28 (1)
-9z = =72 (2)
Variablenwerte herleiten:
(2) =22 =28

(1)=321+40=28= 321 =—-12=> 21 =—4
Losung: y = —4,2 =8

Aufgabe 4
Lose das Gleichungssystem.
Ty 4+ =3z = 57
8 14y + —152 — 96
Dreiecksform:
Ty + —3z = 57 (1)
-9z = -—-18 (2)

Variablenwerte herleiten:
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(2) = 29 =2
(1) = Te1+ (—6)=57T=T1r1=63=21=9

Losung: y = 9,2 = 2

b oY + -8z = 95
) 45y + 77z = —905
Dreiecksform:

oy + -8 = 95 (1)
5z = =50 (2)

Variablenwerte herleiten:

(2) = 29 = —10
(1) =521 +80=95=5r1=15=21=3

Losung: y = 3,z = —10

Viel Erfolg]!
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